
790 DUKE, orange - direct delivery 2023 <2023><EU><F9603WQ>
FRONT FORK, TRIPLE CLAMP

59412

Pos Part Number Description Additional Text Quantity

1 C05586R2601 Fork 790 DUKE S 18 1.00

2 C90701032032C1 Lower triple clamp X=32 mm bla 1.00

3 C0000350803000 SHCS M8x30 TX45 4.00

4 16181R54E Steering damper cpl. 1.00

5 C0000250802500S HH COLLAR SCREW M8X25 TX40 3.00

6 C90701044000C1 Retaining bracket brake line g 1.00

7 69008021080 clip nut M5 2.00

8 C90701084000 Stearing head gasket 2.00



9 C90701080000 steering head bearing cpl. 2.00

10 C90701086000 PROT. RING STEER. HEAD BEARING 1.00

11 C90701081010 Stearing head rep. Kit 1.00

12 C90701034032C1 Upper Triple Clamp 1.00

13 C0000350802500S ISA collar screw M8x25 ISA45 1.00

14 0988253505 thrust wash DIN0988-25x35x0,5 1.00

15 C90701036000C1 Steering head screw 1.00

16 C90701039032C1 HANDLEBAR SUPPORT D=28 H=32 BL 2.00

17 C0000351003501S AH-COLLAR SCREW M10X35 ISA45 2.00

18 C90701038000C1 HANDLEBAR CLAMP 28MM 2.00

19 C0000250802500 HH collar screw M8x25 4.00


